Snow Scene Prepositions
Fill in the Gaps
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1. The green trees are the big snowman.

2. The girl is putting the red glove the big snowman.
3. The toddler is sitting the little snowman.

4. The big snowman is the two children.

5. The child is sledging the hill.

6. The lady has her hands her pockets.

7. The snowman's scarf is its nose.

8. The robin is standing the branch.
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Snow Scene Prepositions Answers

. The green trees are behind the big snowman.

. The girl is putting the red glove on the big snowman.
. The toddler is sitting next to the little snowman.

. The big snowman is between the two children.

. The child is sledging down the hill.

. The lady has her hands in her pockets.

. The snowman's scarf is under its nose.

. The robin is standing on the branch.
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